3.0A.C.7: Fluently multiply and divide within 100 using strategies.

Find each missing quotient.

=63 =7

Complete each table below.

35

Box the letter of the correct answer.

There are 42 chairs in 7 equal rows at a party hall. How many chairs are in each row?

A 5 B. 6

C. 8 D. 7
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3.0A.C.7: Fluently multiply and divide within 100 using strategies.

Find each missing quotient.

=63 =7

Complete each table below.

Answer Key

35

Box the letter of the correct answer.

There are 42 chairs in 7 equal rows at a party hall. How many chairs are in each row?
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